

	Tabulation of Bids									
Contract ID:	19146	Counties:	BERGEN, HUDSON, PASSA	IC						
Letting Date:	January 30, 2020	District(s):	N1							
Call Order:	146	Project(s):	NHP-0003(335)							
Contract Time:	11/01/20 COMPLETION DA	TE Min:	Max:							
Contract Descr	iption: Route 3 from Route	e 46 to Route 495 Contract No. (001193180							

Line No / Item ID Item Description Alt Set / Alt Member Qu			(1) CRISDEL C	1) CRISDEL GROUP, INC.				
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	59,327.79000	59,327.79				
PERFOR PAYMEN	MANCE BOND AND	DOLL						
0003	153003P	(1)	15,000.00000	15,000.00				
PROGRE	ESS SCHEDULE	LS						
0004	153005M	4.000	585.75000	2,343.00				
PROGRE	ESS SCHEDULE UPD	DATE U						
0005	153011M	1,050.000	0.01000	10.50				
TRAINEE	ES	HOUR						
0006	154003P	(1)	2,421,411.97000	2,421,411.97				
MOBILIZ	ATION	LS						
0009	157004M	1.000	23,962.50000	23,962.50				
CONSTR	RUCTION LAYOUT	DOLL						



Tabulation of Bids										
Contract ID: 19146			Counties:	BERGEN, HUDS	SON, PASSAIC					
Letting Date: Janua	ry 30, 2020		District(s):	N1						
Call Order: 146			Project(s):	NHP-0003(335)						
Contract Time: 11/01/	20 COMPLETION DA	ATE	Min:	Max:						
Contract Description:	Route 3 from Route	e 46 to Route 495	5 Contract No. (001193180						
Line No / Item ID		(1) CRISDEL	GROUP, INC.							
Item Description Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount			
SECTION: 0001	ROADWAY		Cat A	t Set:	Cat A	It Member:				
0014 159003M	90.000	110.12000	9,910.80							
BREAKAWAY BARRICADE	U									
0015 159006M	400.000	1.00000	400.00							

0014	100000101	50.000	110.12000	0,010.00	
BREAKAV	VAY BARRICADE	U			
0015	159006M	400.000	1.00000	400.00	
DRUM		U			
0016	159009M	400.000	14.85000	5,940.00	
TRAFFIC	CONE	U			
0017	159012M	2,254.000	36.93000	83,240.22	
CONSTRU	JCTION SIGNS	SF			
0018	159015M	2.000	1,817.12000	3,634.24	
CONSTRU SIGN, 4' X	JCTION IDENTIFICATION	U			
0019	159027M	10.000	1.00000	10.00	
FLASHING	G ARROW BOARD, 4' X 8'	U			



		Page 3 of 16					
Contract ID: 1914	6	Counties:	BERGEN, HUD	SON, PASSAIC			
Letting Date: Janua	ary 30, 2020		District(s):	N1			
Call Order: 146	Project(s): NHP-0003(335)						
Contract Time: 11/01	1/20 COMPLETION DA	TE	Min:	Max:			
Contract Description	: Route 3 from Route	46 to Route 49	95 Contract No. 0	01193180			
Line No / Item ID Item Description		(1) CRISDEL	GROUP, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
			Cat Al	+ Sati	Cat A	It Mombor:	

SECTIO	N: 0001	ROADWAY		Cat Alt S	Set: Cat A	It Member:
0020	159030M	6.000	7,544.46000	45,266.76		
PORTAB SIGN	BLE VARIABLE MESSA	GE U				
0021	159108M	6.000	100.00000	600.00		
	C CONTROL TRUCK W ED CRASH CUSHION	ITH U				
0022	159138M	300.000	87.15000	26,145.00		
HMA PA	ТСН	Т				
0023	159300M	1,171,440.000	0.21000	246,002.40		
TRAFFIC	STRIPES, LATEX, 4"	LF				
0024	159312M	115,210.000	0.30000	34,563.00		
TRAFFIC LATEX, 8	C MARKINGS LINES, B"	LF				



	Tabulation of Bids							
Co	ontract ID: 19146			Counties:	BERGEN, HUDS	SON, PASSAIC		
Let	tting Date: Januar	y 30, 2020		District(s):	N1			
c	Call Order: 146			Project(s):	NHP-0003(335)			
Cont	ract Time: 11/01/2	20 COMPLETION DA	ΛTE	Min:	Max:			
Cont	ract Description:	Route 3 from Route	e 46 to Route 495	5 Contract No. (001193180			
	o / Item ID		(1) CRISDEL (GROUP, INC.				
	escription t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat A	It Set:	Cat A	It Member:	
0025	159314M	29,750.000	0.80000	23,800.00				
TRAFFIC LATEX, 2	MARKINGS LINES, 24"	LF						
0026	159320M	4,260.000	1.60000	6,816.00				
TRAFFIC LATEX	MARKINGS SYMBO	DLS, SF						
0027	160004M	1.000	27,200.00000	27,200.00				
FUEL PR	RICE ADJUSTMENT	DOLL						
0028	160007M	1.000	62,200.00000	62,200.00				
ASPHAL	T PRICE ADJUSTME	NT DOLL						
0029	161003P	(1)	7,192.77000	7,192.77				
FINAL CI	LEANUP	LS						
0030	201003P	(1)	75,000.00000	75,000.00				
CLEARIN	NG SITE	LS						



	Page 5 of 16			
Contract ID:	19146	Counties:	BERGEN, HUDSON, PASS	AIC
Letting Date:	January 30, 2020	District(s):	N1	
Call Order:	146	Project(s):	NHP-0003(335)	
Contract Time:	11/01/20 COMPLETION DATE	Min:	Max:	
Contract Descri	ption: Route 3 from Route 46	6 to Route 495 Contract No. (001193180	

Line No / Item ID Item Description Alt Set / Alt Member Qu			(1) CRISDEL O	GROUP, INC.				
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	DN: 0001	ROADWAY		Cat Al	Set:	Cat A	It Member:	
0031	302051P	140.000	119.34000	16,707.60				
-	GRADED AGGREGAT DURSE, VARIABLE ESS	E CY						
0032	401009P	75,293.000	7.13000	536,839.09				
HMA MIL	LING, 3" OR LESS	SY						
0033	401015P	500.000	7.14000	3,570.00				
CONCR	ETE MILLING	SY						
0034	401017P	683,879.000	3.37000	2,304,672.23				
MICRO-I	MILLING	SY						
0035	401021M	3,189.000	133.05000	424,296.45				
HOT MIX REPAIR	(ASPHALT PAVEMEN	IT SY						



		Page 6 of 16					
Contract ID: 19146			Counties:	BERGEN, HUDS	SON, PASSAIC		
Letting Date: Januar	y 30, 2020		District(s):	N1			
Call Order: 146			Project(s):	NHP-0003(335)			
Contract Time: 11/01/2	20 COMPLETION DA	ATE	Min:	Max:			
Contract Description:	Route 3 from Route	e 46 to Route 495	5 Contract No. (01193180			
Line No / Item ID		(1) CRISDEL (GROUP, INC.				
Item Description Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat A	t Set:	Cat A	t Member:	
0036 401027M	449,908.000	0.46000	206,957.68				
POLYMERIZED JOINT ADHE	SIVE LF						
0037 401030M	102,590.000	0.01000	1,025.90				
TACK COAT	GAL						
0038 401049M	958.000	141.02000	135,097.16				
HOT MIX ASPHALT 9.5 M E SURFACE COURSE	Т						
0039 401054M	6,915.000	115.14000	796,193.10				
HOT MIX ASPHALT 12.5 M 64 SURFACE COURSE	4 T						
0040 401073M	974.000	151.17000	147,239.58				
HOT MIX ASPHALT 9.5 M E INTERMEDIATE COURSE	т						



0045

421011M

SLURRY SEAL EMULSION

28,439.000

GAL

21.42000

		Page 7 of 16						
Contrac	t ID: 19146			Counties:	BERGEN, HUDS	ON, PASSAIC		
Letting D	Date: Januar	y 30, 2020		District(s):	N1			
Call Or	der: 146			Project(s):	NHP-0003(335)			
Contract Ti	ime: 11/01/2	0 COMPLETION DA	TE	Min:	Max:			
Contract D	escription:	Route 3 from Route	46 to Route 495	5 Contract No. 0	01193180			
Line No / Iten			(1) CRISDEL (GROUP, INC.				
Item Descript Alt Set / Alt N		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0	001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0041 4011	08M	245.000	143.48000	35,152.60				
CORE SAMPLE ASPHALT	S, HOT MIX	U						
0042 4011	13M	14,500.000	27.00000	391,500.00				
HMA LONGITUI REPAIR	DINAL JOINT	SY						
0043 4060	005M	40,349.000	131.05000	5,287,736.45				
HIGH PERFORI OVERLAY	MANCE THIN	т						
0044 4210	010M	982.000	244.07000	239,676.74				
SLURRY SEAL II	AGGREGATE	, TYPE T						

609,163.38



0051

CASTING

602155M

MODIFIED, USING EXISTING

RECONSTRUCTED INLET, TYPE B

2.000

U

4,664.97000

		Т	abulation of B	ids			Page 8 of 16
Contract ID: 19146			Counties:	BERGEN, HUDS	ON, PASSAIC		
Letting Date: January	y 30, 2020		District(s):	N1			
Call Order: 146			Project(s):	NHP-0003(335)			
Contract Time: 11/01/2	0 COMPLETION DA	ATE	Min:	Max:			
Contract Description:	Route 3 from Route	e 46 to Route 495	5 Contract No. 0	01193180			
Line No / Item ID		(1) CRISDEL (GROUP, INC.				
Item Description Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0046 453006M	823.000	262.26000	215,839.98				
FULL DEPTH CONCRETE PAVEMENT REPAIR, HMA	SY						
0048 602102M	3.000	1,813.69000	5,441.07				
SET INLET TYPE A, CASTING	e U						
0049 602105M	7.000	2,229.58000	15,607.06				
SET INLET TYPE B, CASTING	e U						
0050 602108M	3.000	2,361.10000	7,083.30				
SET INLET TYPE E, CASTING	а U						

9,329.94

1/30/2020

16



			т	abulation of B	ids			Page 9 of 16
С	ontract ID: 19146			Counties:	BERGEN, HUDS	SON, PASSAIC		
Le	tting Date: Januar	ry 30, 2020		District(s):	N1			
	Call Order: 146			Project(s):	NHP-0003(335)			
Con	tract Time: 11/01/2	20 COMPLETION DA	TE	Min:	Max:			
Con	tract Description:	Route 3 from Route	46 to Route 495	5 Contract No. 0	01193180			
	No / Item ID		(1) CRISDEL (GROUP, INC.				
	Description et / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0052	602210M	13.000	715.15000	9,296.95				
BICYCL	E SAFE GRATE	U						
0053	602213M	160.000	1,242.26000	198,761.60				
CURB F	IECE	U						
0054	606075P	74.000	522.92000	38,696.08				
CONCR	ETE ISLAND, 4" THIC	CK SY						
0055	607069P	1,925.000	277.96000	535,073.00				
	RIABLE HEIGHT ETE VERTICAL CURI	LF B						
0056	610003M	452,840.000	0.33000	149,437.20				
TRAFFI	C STRIPES, 4"	LF						
0057	610012M	4,417.000	28.75000	126,988.75				
RPM, M LENS	ONO-DIRECTIONAL,	WHITE U						



			т	abulation of B	ids			Page 10 of 16
Cont	ract ID: 19146			Counties:	BERGEN, HUDS	ON, PASSAIC		
Lettin	g Date: January	/ 30, 2020		District(s):	N1			
Call	Order: 146			Project(s):	NHP-0003(335)			
Contrac	t Time: 11/01/2	0 COMPLETION DA	ATE	Min:	Max:			
Contrac	t Description:	Route 3 from Route	e 46 to Route 495	5 Contract No. (01193180			
Line No / Item Desc			(1) CRISDEL (GROUP, INC.				
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0058 6	510014M	40,375.000	1.70000	68,637.50				
TRAFFIC MA	ARKING LINES, 8"	LF						
0059 6	10017M	10,600.000	6.60000	69,960.00				
TRAFFIC MA	ARKING LINES, 24	1" LF						
0060 6	510018M	1,414.000	28.76000	40,666.64				
RPM, MONO AMBER LEN	D-DIRECTIONAL, NS	U						
0061 6	510024M	6,420.000	9.12000	58,550.40				
REMOVAL C	OF RPM	U						
0062 6	510033M	109,626.000	0.31000	33,984.06				
RUMBLE ST	RIP	LF						
0063 6	10036M	79,130.000	0.64000	50,643.20				
REMOVAL C	OF TRAFFIC STRI	PES LF						



			т	abulation of B	ids			Page 11 of 16
Contract	D: 19146			Counties:	BERGEN, HUDS	SON, PASSAIC		
Letting Da	te: January 3	80, 2020		District(s):	N1			
Call Ord	er: 146			Project(s):	NHP-0003(335)			
Contract Tin	e: 11/01/20	COMPLETION DA	ATE	Min:	Max:			
Contract De	scription: R	oute 3 from Route	e 46 to Route 495	5 Contract No. (01193180			
Line No / Item Item Description	_		(1) CRISDEL (GROUP, INC.				
Alt Set / Alt Me		uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00)1	ROADWAY		Cat A	t Set:	Cat A	It Member:	
0064 61003	ЭМ	33,190.000	3.45000	114,505.50				
REMOVAL OF TH	AFFIC MARKII	NGS SF						
0065 61006	DM	1,510.000	7.24000	10,932.40				
TRAFFIC MARKI	IGS SYMBOLS	S SF						
0066 65242	9M	3.000	2,819.03000	8,457.09				
RECONSTRUCT SANITARY SEWI CASTING		V						
0067 70101	2P	100.000	30.54000	3,054.00				
1 1/2" RIGID MET	ALLIC CONDU	IT LF						
0068 70102	IP	80.000	61.79000	4,943.20				
3" RIGID METALI	IC CONDUIT	LF						
0069 70110	2M	2.000	1,579.15000	3,158.30				
18" X 36" JUNCT	ON BOX	U						



		Т	abulation of B	ids			Page 12 of 16
Contract ID: 1914	6		Counties:	BERGEN, HUDS	SON, PASSAIC		
Letting Date: Janu	ary 30, 2020		District(s):	N1			
Call Order: 146			Project(s):	NHP-0003(335)			
Contract Time: 11/07	1/20 COMPLETION D	ATE	Min:	Max:			
Contract Description	: Route 3 from Route	e 46 to Route 498	5 Contract No. (001193180			
Line No / Item ID Item Description		(1) CRISDEL	GROUP, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat A	It Set:	Cat A	It Member:	
0070 704189M	8.000	27,220.62000	217,764.96				
WIM ROADWAY DEVICES	1 LANES U						
Section Totals:			\$16,312,617.09				



		Т	abulation of B	ids			Page 13 of 16
Contract ID: 19146			Counties:	BERGEN, HUDS	ON, PASSAIC		
Letting Date: Januar	y 30, 2020		District(s):	N1			
Call Order: 146			Project(s):	NHP-0003(335)			
Contract Time: 11/01/2	20 COMPLETION DA	ATE	Min:	Max:			
Contract Description:	Route 3 from Route	e 46 to Route 495	Contract No. 0	01193180			
Line No / Item ID Item Description		(1) CRISDEL C	GROUP, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	CONSTRUCTIO	ON ENGINEERIN	NG Cat Al	t Set:	Cat A	It Member:	
0007 155012M	1.000	50,000.00000	50,000.00				
FIELD OFFICE TYPE D SET U	JP U						
0008 155030M	11.000	5,000.00000	55,000.00				
FIELD OFFICE TYPE D MAINTENANCE	МО						

Section Totals:

\$105,000.00



		Т	abulation of B	ids			Page 14 of 16
Contract ID: 19146			Counties:	BERGEN, HUDS	ON, PASSAIC		
Letting Date: January	y 30, 2020		District(s):	N1			
Call Order: 146			Project(s):	NHP-0003(335)			
Contract Time: 11/01/2	0 COMPLETION DA	ΛTE	Min:	Max:			
Contract Description:	Route 3 from Route	e 46 to Route 495	5 Contract No. (001193180			
Line No / Item ID Item Description		(1) CRISDEL (GROUP, INC.				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	(NON-PARTIC	PATING (ROAD	WAY Cat A	It Set:	Cat A	It Member:	
0002 152015P	1.000	19,150.00000	19,150.00				
POLLUTION LIABILITY INSUR	RANCE DOLL						
0047 601670M	250.000	27.16000	6,790.00				
CLEANING EXISTING PIPE, 1 24" DIAMETER	2" TO LF						

Section Totals:

\$25,940.00



Contract ID: Letting Date: Call Order:	January 30, 2	2020		Counties:	BERGEN, HUDS			
_	-	2020			DERCEN, HODO	ON, PASSAIC		
Call Order:	146			District(s):	N1			
				Project(s):	NHP-0003(335)			
Contract Time:	11/01/20 CO	MPLETION DA	TE	Min:	Max:			
Contract Descri	ription: Rout	e 3 from Route	46 to Route 495	5 Contract No. 0	01193180			
Line No / Item ID			(1) CRISDEL (GROUP, INC.				
Item Description Alt Set / Alt Membe	er Quan	tity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	E	ROSION CON	ITROL	Cat Al	t Set:	Cat A	It Member:	
0010 158030M		821.000	105.19000	86,360.99				
INLET FILTER TYPE	2, 2' X 4'	U						
0011 158063P		(1)	15,000.00000	15,000.00				
CONCRETE WASHO	OUT SYSTEM	LS						
0012 158072M		2.000	532.50000	1,065.00				
OIL ONLY EMERGEN TYPE 1	NCY SPILL KIT,	U						
0013 158084M		10.000	137.57000	1,375.70				
EROSION CONTROL REMOVAL	L SEDIMENT	CY						

Section Totals:

\$103,801.69



		т	abulation of B	ids			Page 16 of 16
Contract ID:	19146		Counties:	BERGEN, HUDS	ON, PASSAIC		
Letting Date:	January 30, 2020		District(s):	N1			
Call Order:	146		Project(s):	NHP-0003(335)			
Contract Time:	11/01/20 COMPLETION D	ATE	Min:	Max:			
Contract Descri	ption: Route 3 from Route	e 46 to Route 495	5 Contract No. (001193180			
Line No / Item ID Item Description		(1) CRISDEL (GROUP, INC.				
Alt Set / Alt Membe	er Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	GENERAL LAN	NDSCAPE	Cat A	It Set:	Cat A	It Member:	
0071 805003M	2,259.000	9.58000	21,641.22				
TURF REPAIR STRIP	LF						
Section Totals:			\$21,641.22				
	Contract Totals		\$16,569,000.00				
	Cost Plus Time Totals		\$16,569,000.00				
() indicates item i	s bid as Lump Sum	1		I			



		Vendor Ranking		Page:
Call Order:	146	Contract ID: 19146	Counties:	BERGEN, HUDSON, PASSAIC
Letting Date	January 30, 2020 10:00 AM	District(s): N1		
		Contract Time: 11/01/20 COMPLETION DATE		
Contract Des	cription: Route 3 from Route	46 to Route 495 Contract No. 001193180	Project(s):	NHP-0003(335)
Rank	Vendor ID/Name		Total Bi	Percent Of id Low Bid
1	C7444	CRISDEL GROUP, INC.	\$16,569,00	00.00 100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.